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(a — B)? = a? — 2ap + B
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[lapadetypata

1. (222 +3x) = (222)" +2-22% 3x + (3x)? =
= 4x* + 12x3 + 9x2

2. (=) = (") -2 y+yi=

=y4—2y3+y2
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1l KoBoc abpolopatoc
(a+ B)3 = a3 + 3a?p + 3ap? + B3
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(a+p)* =
=a?+2ap + B2

= (a+ B)(a® + 2aB + p?%) =

ETUEPLOTKN
1o1otnTa

= o’ + 2a’B + af? + a’B + 2aB* + B° =

= a3 + 3a?pB + 3ap? + B3
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(a—p)3 =a3 —-3a?p + 3ap? - p3
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(a—pB)? =
=a? - 2ap + p?

= (a—p)(a® - 2aB + B*) =
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= a3 - 2a’B + af? — a’B + 2af* - B3 =

=a®—-3a’B + 3ap? - p3
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1. 2x+5)3=2x)%+3-(2x)?*-5+3-2x-52+5%=
=8x3+3-4x%-5+6x-25+ 125 =

= 8x3 + 60x2% + 150x + 125

2. 2x—y3=02x)3-3-2x)% y+3-2x-y2—y3 =
=8x3—-3-4x*-y+6xy*?—y3 =

= 8x3 — 12x%y + 6xy* — y3
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(a+B)(a—p) =a*—p*
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[Tapadeiypata

1. 2x—-3)2x+3)=(2x)2-3%2=4x*-9
2. (—x+3)(—x-3)=(—x)?%-32=x%-9
3. x=2)(—x—2)=(-2)>—-x*=4—x*
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